n
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E+n x 10 E+3  x 1000
(ke/ ) (ko/ )

1 6.3E+1 63.0 63.0
2 24E+2 2400 2400
3
4 1.5E+1 15.0 15.0
5
6
7 6.2E+0 62 12E+1 120 182
8 6.8E+2| 6.9E+2 1,371.6 11E+2| 1.3E+3 1,364.0 2,7135.6
9 18E+2 1810 | 26E+0[ 9.3E+0 119 1929
10
11 13E+2 125.2 26E+2 2619 3871
12 3.5E+3 3,519.4 5.1E+4 51,4723 54,991.7
13 1.0E+0 10 1.0
14 76E+3 7617.0 39E+4| 386140 46,2310
15
16 136+2] 6.0E-1 135.2 25E+2 2500 3852
17 3.8E+1 38.0 93E+0 93 473
18 14E+1] 11E+1 25.2 10E+2 1003 1255
19
20
21 4.6E+2 456.7 9.8E+0| 1.0E+3 1,045.2 1,501.9
22 2.7E+1 27.0 27.0
23 196+2| 13E+1 2063 28E+3 27765 29828
24 20E+2 199.9 9.7E+3 97030 9902.9
25 11E+2 108.9 2.0E-1] 1.7E+2 172.6 2815
26 1.0E+2 104.3 10E-1| 1.3E+1 12.9 117.2
27 3.4E+2 344.2 1.0E+0| 3.1E+2 3129 657.1
28 25E+2 2519 41611 410 2929
29 4.0E-1 04 40E-1| 4.0E-1 0.8 12
30
31
32
33 39E+2 389.0 11E+3 1,100.0 1489.0
34 9.1E+2| 25E+1 935.0 1.5E+2 150.0 1,085.0
35
36
37
38
39
40
41
42
43
44 94E+1| 10E+0 95.0 40E+2 400.0 495.0
45
46
47

15E+4| 7.4E+2 16,152.4 12E+2| 1.1E+5 108,114.6 124,267.0
D
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